PH112 EXAM III 
Winter Quarter 2003-04
Name:________________




Box: No:______

Answer all questions. 

Do not erase your work. If you need more space work the problems on the back. 

All questions are 25 points each.

Equation sheet is provided at the end of the exam.


	Problems
	Score

	1 (25 points)
	

	2 (25 points)
	

	3 (25 points)
	

	4 (25 points)
	

	Total (100 points)
	




1. Find the equivalent capacitance between point A and B. 













b) If the potential difference between A and B is 20.0 V, what is the charge on capacitor C4 and C1 and the potential difference between D and B?  

2. In the figure given below the elements have the following value: E1=10.0 V, E2=4.00 V, E3=4.00 V and R1 = 4.00 , R2 = 8.00  and R3 = 6.0
a) Determine the current in each branch of the circuit.








b) What is the potential difference between junction A and B? 

3. A 2.00m long wire is made by welding the ends of a 1.20 m long sliver wire to the end of a 0.80 m long copper wire. Each piece of wire is 0.60 mm in diameter. The wire’s resistivity at room temperature are 1.47 x 10-8 .m and 1.72 x 10-8 .m for silver and copper respectively. A potential difference of 10.0 V is maintained between the ends of the 2.00 m long wire. 

a) What is the current in the copper wire?

b) What is the current in the section of the silver wire?

c) What is the potential difference between the ends of the silver wire?

d) What is the magnitude of the electric field in the copper wire?
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